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Answers

1) Amelia is wrong because fractions with larger denominators are not always larger than fractions with smaller
denominators. We can solve this calculation by converting the mixed numbers to improper fractions and then

simplifying before subtracting:
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Only q  gives a whole number answer when written as a mixed number.

visit twinkl.com @
Quality Standard
“Apimé‘;iz


https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources/planit-maths-primary-teaching-resources-year-6/planit-maths-primary-teaching-resources-year-6-number---fractions

Answers

1) Answers will vary. Example answers shown. @
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3) Answers will vary. Example answers shown

g L
12

o |G\
+
N

o|w
\

3£+ ]i—gllorSL
4 S 4 4

w visit twinkl.com



https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources/planit-maths-primary-teaching-resources-year-6/planit-maths-primary-teaching-resources-year-6-number---fractions

	Mixed Addition and Subtraction

